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Question Mandatory : No
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3/18/2021
A carrier signal C(t)=25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 x 10%t) and transmitted through an antenna. What will be the bandwidth

of the modulated signal ?

Options :
86435111071, 20 MHz

86435111072, 8 GHz

86435111073, =01 GHz

86435111074, 1987.5 MHz

Question Number : 1 Question Id : 8643513691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80) Ulads auloima@ C(t) =25 sin(2.512x 1019 -em &) ovemu odluma

m(t) =5 sin (1.57 x 10%) o060 @mogllguol’ emoawjealadmd msoml e} edElom s
aljoeomas) allg). emoaweelq o.alwm mivimelan snioadal aflwe agmoeny ?
Options :
86435111071, 20 MHz

86435111072, 8 GHz

86435111073, >01 GHz

86435111074, 1987.5 MHz

Question Number : 2 Question Id : 8643513692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two cells of emf 2E and E with internal resistance r, and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
|| ||
| !
g
R
Options :
n
86435111075, =
I
T | FE
86435111076, -
r Tr
86435111077. ' 2
T, r?_
86435111078.

Question Number : 2 Question Id : 8643513692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e.m.f 2E -@jo E -@jo @pmm@ks: (@flenowe 1y Ho 1, Ho HER M6NE) TR IdhUd &0} rudacsl:

lal@flemow R -aowfl egyeniiail@ caislalafldlenim) aag) emglm] dioied: 6alogmay@d
moQo aliRie @M daldicd R -em alle epen :

2E E
I | I:

Options :
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I

¥,
86435111075, -

I

? | J."z
86435111076. ~

Ky
86435111077.

T |I'2
86435111078.

Question Number : 3 Question Id : 8643513693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms ~! along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

86435111079, Y(x, t)=0.03 [ sin 5.1x— (0.2 x 10%)t ]

Y(x, ) =0.03 [ sin 5.1x — (1.5 10)t ]
86435111080.

, 1)=0.06 [ si - 3
s6435111081. L@ =006 [ sin 5.1x— (1.5 x10°)t ]

s RTIE ek :
86435111082, Y& 9=0.06 | sin 0.5x—(05x10°)¢ |

Question Number : 3 Question Id : 8643513693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
245 Hz epayoviogs o) wel ®oowo 300 ms ! ecunodd

T-@ERHHUOTIEOS TLerRITlen) M) Mmoomnamieea eoerd mllmsille @miemIgio allOeaog)o

6 cm @OOYMeNE. e MuerIdken M moowadiiond werl®m qmacddio agMmoeiidleio ?
Options :

Y(x, )=0.03 [ sin 5.1x— (0.2 x 103)t |
86435111079.
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Y(x, )=0.03 [ sin 5.1x— (1.5 x 10¥)t ]
86435111080.

s g e .
s6435111081, Y@ §=0.06 [ sin 5.1x— (15 x10%)t ]

;, 1)=0.06 | si : 3
86435111082, Y& 9=0.06 [ sin 0.8x—(0.5x107)t ]

Question Number : 4 Question Id : 8643513694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘I at a height of 11R above
the surface of ‘P, R being the radius of ‘P’. The time period of another satellite in hours at a

height of 2R from the surface of ‘I is . ‘P’ has the time period of 24 hours.
Options :
86435111083, 2

86435111084, V2

86435111085,

6
86435111086. V2

Question Number : 4 Question Id : 8643513694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} HlewoieqRamdl galiane ‘P’ ag)m (an@BlOM) aldlmadsiad alomie 11R

oRAMTI@M (Basmo eoIQimy (‘P'eo) alinie), ‘P’ @ies a@peadem R. ‘P'ayes
aldlmelmdld alimie 2R el 988 a6Q0) Hallteomiland @paudemmdeielo @6

. P wies epcudemm @oelo 24 oenilen)d @men.
Options :

86435111083, ° nours

86435111084, 02 hours

86435111085. 3 hours
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6
—— hours
86435111086. ﬁ

Question Number : 5 Question Id : 8643513695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of

mass m moving with a speed v along the line joining A and B collides with A. The maximum

compression in the spring is

=

C A
m e m | Y Y ¥y | m

Options :
| m
5
86435111087, V2K
- m
86435111088, ' 2K
jmo

86435111080, V K

86435111090.

Question Number : 5 Question Id : 8643513695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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almimao@ (almelewlad cudlal] e©oiglmm adm m 988 N2 MVAdIMm &Shid A, B
agymicue® milaflovd mudleosmoe K -@jo qupeoils: aiigo L 9o 988 6] dMo dblO6rm
milalowdlmo@d caislaflofldlenim). A -o@®jo B -e@wje snimuflaflenym coaiele;es v’
coumnmailad aflessimm aegony &5 C (@om) m ) A -@mow & glaiislkeninm). milallouslad

HEMRONM aleaonUu Oemoiddo @DeN

=

C A
m | —» m L7YVTY Y Ll m

Options :
m
=
86435111087, ' 2K
m
0 =
86435111088, ' 2K
ma
86435111089. ' K
m
2K
86435111090,

Question Number : 6 Question Id : 8643513696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring

constants I'fiT and K?_ respectively. If the maximum velocities during oscillations are equal,

the ratio of the amplitude of A and B is

Options :
'KI
K,
86435111091.
K
K

86435111092.
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.Kz

K
86435111093, !

—

IKE

s

86435111094, £

Question Number : 6 Question Id : 8643513696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MU@MOM MIMVIBE VOS] BEMldhdh(d A @Yo B o noidmo K|, K, mijaflowd cudieomo oag

pomilglom®m @6z Milaflotidh®d gale@owuilal) misslalgidleniom). eaoaim@mle )
MaOOD alaaduw] [leute Mde EDOMEIT A QIOHSRle B @1Os®)o EDQT®:a10S
@RMal0®o @DEN :
Options :

K1

s

86435111091.

86435111092.

86435111093, !

—

IKE

s

86435111094, .

Question Number : 7 Question Id : 8643513697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11
List - 1

(a) Phase difference between current and voltage (1)

in a purely resistive AC circuit

(b) Phase difference between current and voltage in (i)

a pure inductive AC circuit

(c¢) Phase difference between current and voltage in  (iii)

a pure capacitive AC circuit

(d) Phase difference between current and voltage in  (iv)

an LCR series circuit

List - 11

.'.r
— ; current leads voltage

2

ZETO

i1
—: current lags vnltage

2

Choose the most appropriate answer from the options given below :

Options :
86435111095, @) (1) (D)), ()-(iv), (d)-(ii)

26435111096, @) (i), (b)-(iv), (c)-(iii), (d)-(i)
86435111097, 2 (1) (D)), (©)-(1), (A)-(tv)

26435111098, (@)-(ii). (b)-(iii), (c)-(iv), (d)-(1)

Question Number : 7 Question Id : 8643513697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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el -1 ellodg - 11 -0 eaimlo alsl calddaeid.
efldg - 1 el - 11

(a) ldemio (leflerowmo® AC quddyudad 50 (i) % HOW ealovdegedlm)

cUoMbegRlc ®adilel8s8 Ganmy QlyE)}Omo m)rilad
(b) dldemie oGS o) AC quddSiad (i) an®@o

SHOMlo erUoMesRie madleles Ganmi Ao
(c) aldomie datomiginl epw 6oy AC quddyglad (i) % HOM caUoudesElm)

SHOMlo erUoMbegRle madleles Ganmi’ oMo alloil@d

' Xc — X
(d) LCR ewaeml mdaudad o0as #0mle eauomdegeio (iv) t@n I[%J

@aleles Ganm aymiomo
®oe® mMldleanmal@d aflom tElwow oMo EOOTINSjHE)jd: :
Options :

86435111095, @) (b)(iid), (c)-(iv), (d)-(ii)
26435111096, @1, (b)-(iv), (c)-(i11), (d)-()

86435111097, @), (b)-(iii), (c)-(1), (d)-(iv)

86435111098, (@)-(11). (b)-(iii), (c)-(iv), (d)-(1)

Question Number : 8 Question Id : 8643513698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435111099, Inductive reactance will be doubled and current will be halved.

86435111100. Inductive reactance will be halved and current will be doubled.
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86435111101 Both, inductive reactance and current will be halved.

86435111102. Both, inducting reactance and current will be doubled.

Question Number : 8 Question Id : 8643513698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ldomio MdWHIO] MW 6] Tuddsiad @O ald)®l epeslwod eomuwdasial
Glaodgssmmiimie &0mlmie agymm muosallenio ?

Options :
06435111099 et Claodksimd eeglenio, BOM ald@leonio

86435111100, N BSIO Sl@ossSmm aldj@ilon)o, .;a:m@‘ ENOS|HE o

86435111101, 2WEHEIAT SloodsMMe SOl aldy@i@onie

96435111102 enadaHSIOl Gl@assadmlo &Omlo enrglwonljo

Question Number : 9 Question Id : 8643513699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A sphere of mass 2 kg and radius (.5 m is rolling with an initial speed of 1 ms I goes up an

inclined plane which makes an angle of 30° with the horizontal plane, without slipping.
How long will the sphere take to return to the starting point A ?

A 30
Options :
86435111103, 60

057 s

86435111104.

11/94



3/18/2021

86435111105, 022 S

86435111106, B0 s

Question Number : 9 Question Id : 8643513699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@levafimaaonl] 30° eHoemant §enzoen)m &) ealdlemn® plmaleiealss 2 kg momjo

0.5 m EROOYOES B0} C08o 1 ms™ ! (aI0Mo’ CAIMEMMINS HBMMOIOM HOLENRIELQOOMD

®SETRIM). @dley) omdent qunomoe A @ ag)@MmIM EWIso af)® MAWo agf)Sieslo ?

% 30°

Options :

86435111103, 060

86435111104, 027 S

86435111105, 0228

86435111106, B0 S

Question Number : 10 Question Id : 8643513700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms~?)
Options :
86435111107, 20 ms
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1
86435111108, 2-20 ms

86435111109, -0 ms

1
86435111110, >0 ms

Question Number : 10 Question Id : 8643513700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@owldd olomjo 5 m sweemldd oo ey oemd almy alls)mad e.algym). allsymad

0210® pLAGTIeN % @oo HWAMTICEIHs @om allommoo @idlal) ealonsiloioiom).

alnsile cwrowedl eaumn® dhensialiSlkesd.
(Take g=10 ms~2)
Options :

1
86435111107, 20 ms

1
86435111108, 2-20 ms

86435111109, -0 ms

1
86435111110, -0 ms

Question Number : 11 Question Id : 8643513701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v=v, + gt Ft. Its position is x=0 at t=0; then its displacement

after time (t=1) is :

Options :

(eh) | & +F
86435111111. 2
86435111112, Yot 28 1 3F

g F

SR s &

07973

86435111113.
13/94
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86435111114, S0 T8 1E

Question Number : 11 Question Id : 8643513701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B0} HBHWes (e v=1,+gt+Ft> @pem. t=0 @MU @o@le mnomo
x=0 @pem. ag)@ldd (t=1) Mowem @EREIOg MOdMINDo @M.
Options :
5 +F

IF{}I—I
86435111111. 2

| H
86435111112, o+ 281+ 3F

g F
™ + — + —
0% 973

86435111113.

86435111114, S0 T8 1E

Question Number : 12 Question Id : 8643513702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A hairpf_n like shape as shown in figure is made b}-‘ bemflf_ng a Iong current carrying wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle 7
P
Sor
P 555511

1
|
Lo L TR

86435111115, 27T

[

Options :

86435111116, 2™
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86435111117.

86435111118.

Question Number : 12 Question Id : 8643513702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SO Uadlenim an) el emiow agal afimelad soemlafdenyma calonel

80} Oanwdallfd @pdeyoll peneossd]. @pdavammetien acveiees mimy P oleal

H0ile: memualaiiend aldlmoemo agymoem ?

I

L
Eal

I
Options :
I
;‘*T](z )
86435111115, =TT
pol
;(2 | _i'}
86435111116, <7
I
20" (2 + )
86435111117, 7T
pol
b (2—m)
86435111118, *7F

Question Number : 13 Question Id : 8643513703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic h}-‘drogen emils a line spectrum consisting of various series. Which series of

hydrogen atomic spectra is lying in the visible region ?

Options :

86435111119.

Paschen series

15/94
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86435111120. Balmer series

8643511112, yman series

86435111122 Drackett series

Question Number : 13 Question Id : 8643513703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
allaflw ewenidiad oas e} coall@ MiealdsiSo @ReQIdks: eeanlaLERM aljoamialsimm).

@RERdlE: eeanLROM oR®] MiHald|So @M BdUTkendMIMN @M@ (visible region)

088® ?
Options :

86435111119, oD GUE

86435111120, Ho@d cyenil

86435111121, ©ORIDOMD BURETS

ETLOEO U6l
86435111122.L q e®

Question Number : 14 Question Id : 8643513704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical photocathodes receive the light of frequencies f, and f, respectively. If the

velocities of the photo-electrons coming out are v and v, respectively, then

Options :
. 4 "
2h 2
™ — Ty = [H{"h .fz]}
86435111123.
2 2 2h
v =0 =—fi —fl
86435111124, m

16/94
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P |

v +0y = [lifl ' ..Jrz.]}

86435111125. m

2h
0F +v3 = =1 + £l
86435111126. m

Question Number : 14 Question Id : 8643513704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MENE) V@AM EaNdEFD HIELOISIHMD f, f, EDOYETIWIES (ald:0wo MVld:@leaninm). allomm)

QUM BaNOGSD SDEIEHEISIEM HEINS (IGCUUWSIBUD @LOO(dhMo vy, 1, BDEEMEa:

Options :
. r .
T — U = [i[..fl fﬂ}_
86435111123, =
) o) 2h
v —v) = —1f1 —f2l
86435111124, i
"]1 1
™ + U3 = [;1{,.{1 ' h]}_
86435111125. m
2h
o7 +v5 = = f1 + £l
86435111126. .

Question Number : 15 Question Id : 8643513705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the nllowf_ng will be the output of the given circuit ?

A Dﬁ
L
-

B
Options :

86435111127, AND Gate

17/94
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86435111128, NAND Gate

86435111129, XOR Gate

86435111130, VOR Gate

Question Number : 15 Question Id : 8643513705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@midleninm qddaysian aoele moavwiasauiad agmoem’ ?

AT p

-
—

B
Options :

86435111127. e W

86435111128. bl s

iF

XOR eng
86435111129.

NDR@mg
86435111130.

Question Number : 16 Question Id : 8643513706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=
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The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 [} resistance is connected across BD. Calculate the current through the galva_tmmeter

when a potential difference of 10 V is maintained across AC.

Options :

86435111131, >34 pA

86435111132, 244 mA

86435111133, +87 KA

86435111134, +87 mA

Question Number : 16 Question Id : 8643513706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

19/94
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s} allgmiegoend Enilglam moel a6dhd:ddes allmadad @oemlafldeaim caloeel
ld@lepowo . 15 O (dlenowo 988 6n) wamauemadlgd BD &6 &Hl0j6d
agiSla Lo fldleenimmy. 10 V ealogiayy@d mogo AC 86 &hj0ied Mlairidesflwod wmogdalemo

adladleeswies SO0 @6 6o ids.

Options :

86435111131.
86435111132.
86435111133.

86435111134.

Question Number : 17 Question Id : 8643513707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=0.693 )

Options :
s6a3s111135. 16%10% kg 5™

3 2 1
86435111136, 009 * 107 kg s

3 1
86435111137, >/ * 107" kg's

2 1
86435111138, >0 <107 kg s

20/94
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Question Number : 17 Question Id : 8643513707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 kg momu)es &) H56® an) Miallotdlemos caldeminlal 12 cm plotor EDQGIEWINS

eaoelimo e.olgflenim). 2 dlrlglad etrato @@ 6 cm @RI &jo@IMY. womilowd
cudleosarsiion allel smeemeemie (87 alaimemen )

(In 2=0.693 ag)OMMNS)EE) 1)

Options :

- ") 1
86435111135, 16< 107 kg s

3 2 1
86435111136, 09107 kg s

rr 3 1
86435111137, > <10 " kgs

2 1
86435111138, 2 <107 kg s

Question Number : 18 Question Id : 8643513708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f one mole of the polyatomic gas is having two vibrational modes and 3 is the ratio of molar

C
specific heats for polyatomic gas [[:‘: = C—PW then the value of 5 is :
5 v/

Options :

86435111139. k22

86435111140. 1.2

86435111141. 1.35

86435111142, 102

Question Number : 18 Question Id : 8643513708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

21/94
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Correct Marks : 4 Wrong Marks : 1

6lan) @DEQRITIE: (LM M6NE HOHCLEEAUTD DI OME af)NE dhlSIOm

af)(M®@ énlan] ERERIAId AUIMHOTIOM c0o8od, Minalmiladlde ®oaldMjal®mo

@ eemssldd [[:‘, = EP W B @es allel @pen :

k: v ./

Options :

1.25
86435111139.

86435111140. 1.2

86435111141. 1.35

86435111142, 102

Question Number : 19 Question Id : 8643513709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermodynamic processes ?

r'\
T «—— adiabatic
p
isothermal
(a)
vV—>
F
T le——isothermal
'\r?
adiabatic
(c)
T—s>
Options :
a) only
86435111143. ( } =

(d)

.

P

isothermal
/<

adiabatic

.
-

e

isothermal

i

9/

T—

ot

adiabatic

W

T—>

22/94
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86435111144, () and (c)

86435111145, (€ and (a)

86435111146, ) and (d)

Question Number : 19 Question Id : 8643513709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6N AU@MIma0® emdeanob@modlds: (al@lwaies moey oaanield apmoem vdlwow

&0alanm ?

W

V—>

adiabatic

T—>
Options :
(a) only
86435111143. =

86435111144, (P) and (c)

86435111145, (©) and (a)

86435111146, ) and (d)

e
T «—— adiabatic

isothermal

A
le——isothermal

isothermal
/¢

adiabatic

g —

b

=
>

T—>

isothe rmal

/ adiabatic

T—>

23/94
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Question Number : 20 Question Id : 8643513710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object is located at 2 km beneath the surface of the water. If the fractional compressinn

T is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~ and g=9.8 ms 2]
Options :
: 7 "
86435111147, 1-96 <107 Nm

86435111148, 144 %107 Nm ™2

. "
86435111149, 2-26x 107 Nm

86435111150, 144107 Nm~2

Question Number : 20 Question Id : 8643513710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a0} awnim) Beidfleald adlimie 2 km @oey mudlale algom). (a0dHHeMEd 66mmido

% 1.36% @pesm@lah Heaneogls MBISMime aoanewogle minswlmnm®es

@rRMjald@o m@@]fﬁ]cﬂﬁ]&o

{a}mggmmﬂﬂf@ muo3® 1000 kgm 3 Q)M Hm)@)db, g=9.8 ms 7—}
Options :

86435111147, 1.96>107 Nm 2

86435111148, 144x107 Nm ™2
226 % 10% Nm ~2

86435111149.

86435111150, 144107 Nm~2
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Physics Section B

864351248
2

Online
Mandatory
10

5

20

Yes

1
864351248
Yes

Question Number : 21 Question Id : 8643513711 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 2 pF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C, on equilibrium conditionis

S1 52

10 V] o]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

_ pC. (Round off to the Nearest Integer)

Question Number : 21 Question Id : 8643513711 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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8} 2 uF ealomiigh C, em e&n] euogdl pale@ouilal 10 V ealtogtdauy@d moqosicelss)

2100 Oo10®m). @EIMEwato eUIQC] MOIRIH®I0 (AIMI®mI® daldmigalom 8 uF

dbalomiigd C, aymodl snicuwlaflay. mameimocimuonic C, dlch o olode @mem

pC  (a@RQue @os)E®m aljdem moswid)
S

.\?1

N

2

10 V] 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643513712 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A bcr}-' of mass 4 kg is standi_ng on a piece of wood havmg mass 5 kg_. If the coefficient of

friction between the wood and the floor is 0.5, the maximum force that the boy can exert on

the rope so that the piece of wood does not move from its place is

to the Nearest Integer)
[Take g=10 ms 7]

k4

M

k4

o
L3

Response Type : Numeric
Evaluation Required For SA :

Yes

N. (Round off
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643513712 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 kg @momi ©88 6B} &5l 5 kg @oM88 dodademalad milaenismosm. manlle mlait)o
mazlengs celdauem wiemimo 0.5 @ROM®IG Oddhatemo @oalan cmuuomem ailomy
aleflanoom AflwEwlad &)Sles Halmd O®:0SieNoMUM aleaduw] euslo @D 6m

N. (=10 ms™?) (agpQule @eS)om alidemmosnyaie)

W
E

L= 5|

"
+

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513713 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The image of an Dhject placed in air formed I:n, a convex ref racti_ng surface is at a distance of

rd
10 m behind the surface. The image is real and is at % of the distance of the object from

2
the surface. The wavelength of light inside the surface is 3 times the wavelength in air. The

. - :
radius of the curved surfaceis — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513713 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

csowjalled auafidlenim ey cumiaien eiwlimllomio 80} @RalCIBEBMN CdhosNDELIEMY

Bdalémo 9eNaseM® Bdajememlon allmicalss 10 m ceamwlensm. (alaleniosnio
wLnodmondjo (real) @l cuapallod (amealoilcalengs clommilan % alomHeljo @pe).
BdalemElmgsld (o leonemion meoneecdeaio aeiale)gs mownceesdealosio

% msewRoem. Bdajem@Tlon AUkl Saldmacslen eoeo % m @Y. ag)@lad ‘x’

o) alleiwosm’
(a@ROle @RS} alidepmosiwia)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643513714 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

x
WE E. Where the value of x=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513714 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 W enucdendl@d adlomge cuamm allesleemoe aljoalsiallenimm eenigy®m aemuel @lial®

3 m @oHelewcd E @pem). @vem aoemiad 60 W enuden/ldd allomie cuejm aflelesmo

aljoasiaflenim aecugy® aembel el aoem \E E gnafles x e aflel =

(a@ROUe @RS aljbemmuoawiad)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 25 Question Id : 8643513715 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Seawater at a frequency f=9x102 Hz, has permittivity £¢=80¢, and resistivity

p=025 {dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10F imes the displacement current densit}f after time t = %s. The value of x is

(Given : =9 x 10° Nm*C™?)

—1-’:1'1:'{}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513715 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S ecugamdler f=9x 102 Hz epcujomdldd eviddlglalgl « =80, aomigilalg)
p=0.25 Om 9nE. HSH HUSBOMWIAD HOHHNa B0} M@NME Eglf @ajomigdiad
lalmycud el ealodeged erogay V(t) =V sin(27ft) (oo lenymmy. agyeslad t = ﬁs
MAWETIM GUaHo MUOIMINDO BHOM MIMB®m 2leldl@ HOM MIMmmEies 10*

nEg@odhle. x & allel @6 {. 3

= 9% 107 Nm?2C™?)
—1-’:TE{}

(a@ROe @RSIEm aljdemmuoawiad)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 26 Question Id : 8643513716 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given by E = %E{}: I %E{) ; with Ej = 4.0 x 1[}3%. The

flux of this field through a rectangular surface area 0.4 m? parallel to the Y~ Z plane is
NmZC-1L
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513716 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B0} (IEEOEm aenay® aemuele E = %Eﬂ}"' | %Eﬂ; agymilsmeem madaslalldaniom

Ey =4.0x 1[13% @oem. Y — Z (al@elowiim} aoeeidd epal 0.4 m? aflmicidepe oas oimo
®RIETaOSWISs 0 asmLAIETHON Qdsmy @peny __Nm*C~1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513717 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

3w

a x
Lol
a 31

I

x is . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513717 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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aH®OM @MY M 988 l®el MoMm® o 988 8} Wlnis: afllmowilad @eril.ajldenimm;.

0@ @000 AWlMiHIOHM HMVMD Bal’ MOM (@PSWIREA|S)OT® @Iw0) % ot % =
ag)(m cuoeiem @em. afles x __ @em. (a@Ralio @RS aljbemrvos@i@)
(a 2fi@edlcd so6mlofldlenim almialdepe e’ )

Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A I:'u:md‘j;r of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction L It is desired to make the body move by applying the minimum possible force

V3

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms ™2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 28 Question Id : 8643513718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 kg moy @88 cumimy &) alevallm meaiesla odleanymm). eealon cudlal ceidauem

(0}6MO8:0 % @em. cumim) alelleanom eFlaonmaldd alemonuwl] &joemm enelo F N

lleoUdlenemo. F o allel @pem . (a@RQe @RS al)demmvoswi@d)
(g=10 ms %)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513719 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Ugrt. If

1
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where
o 1S

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643513719 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

U(r)=Ugr? agym exlosmaydd adlddol’ msies) £8aaim) aljqleo m MoM88 60) dhemke

(EB@eMo §2IQYMN). USSR &hoeMEManMd @RAIMOBU (e@ouilajomd MoWmIw

(BDEMAILOEIRRIONS @O T, ne ag)mMailemoale @O, ales « @pen
(a@aQUe @S aljdemmoswia)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643513720 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 em® of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

=

3 %
radius [EW x 107> cm. Then the thickness of oleic acid layer will be x <1014 m,
(1

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513720 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 em® eo@afaldd 0.01 ecm?® eefle epmid cumym dalold eelle emiluwlen ao)

' 1
emndala) elowml ailemdd ag)siom) ag)m) Hoj@is. allordls alemsd eoeo (f}j x 1073

L

cm 988 100 enogmigsllatd alewordef 4 cm? allmicldepe 988 e} emdEm alog]
(8n) MmO mWIOS HMo) 0D avemlale mimmle semeosnim). sefls @il
®RO®@OS AUsljajo @@Ll xx107 ¥ m pafles x agyrme

(a@AOe @RS} aljdemmos)wic)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351249
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351249
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643513721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435111161, V3

NO,
86435111162. &

O3
86435111163. -

86435111164. =

Question Number : 31 Question Id : 8643513721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M6 )OS MMM, emdenslod)@lalags mmomews ?
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Options :

86435111161. s

86435111162.

05
86435111163, -

L

86435111164.

Question Number : 32 Question Id : 8643513722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?

(A) Freezing of water to ice at 0°C

(B) Freezing of water toice at —10°C
(O Nyg) + 3Hy(g) — 2NHy(g)

(D) Adsorption of CO(g) on lead surface.
(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :

A), (B), (C) and (D s

86435111165, ) (B)- (C) and (D) only

86435111166, () (C) and (E) only

86435111167, /) and (E) only

86435111168, (B) and (C) only

Question Number : 32 Question Id : 8643513722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M6 O)H0SEAEleN)M (iEl@ealdd, agdesoal @jowimaewa ?

(A) 0°C -@d Zelo eog)my @l suclealleaninmn].

(B) 10°C -@d &elo oag)m @@l auclealsaim),

(C) Nyg) + 3Hy(g) — 2NH,(g)

(D) eeallen oaidmamsidd CO(g) @vasamodent e.01@iom).
(E) NaCl zeiomiad aicilanim)

moey mmildenmauaia oo dwow semee @EEETMS 1@ Jdb.
Options :

sea3siiiies. ) (B) (©) (D) agailas mo@o

26435111166, A (O (E) agyoilal mo@o.

26435111167, (&) (E) agrilal moimo

86435111168, 0 (©) agymilal mo(@o.

Question Number : 33 Question Id : 8643513723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :

Options :

24
86435111169, D2

b
86435111170, \a

PO
86435111171,

SO3
86435111172.

Question Number : 33 Question Id : 8643513723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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8r) emuglal enoglom admowomicalqd 6.a1Qom, (@olddlaloalsiemon), ®iey
ednosjomidlenymaid@ aprale s@dmm eqgoenealdlens aiud o8 Mialladlmy age ?
Options :
Balt

86435111169.

b
86435111170, \a

PO
86435111171,

SO3
86435111172,

Question Number : 34 Question Id : 8643513724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sets is :

Options :

86435111173, be - Al

86435111174, B -5t

86435111175, -1~ Na

86435111176, 1~ Mg

Question Number : 34 Question Id : 8643513724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®O6)Y HIS)OTIZSR Dl CRIWIHW aldlydo MIO®Ae §2IWEMIIRB AlBHEOW

MRIHETBaIOS o] ap@ ?
Options :

86435111173, be - Al

86435111174, B -5

39/94



3/18/2021

86435111175.

86435111176.

Li-Na

Li - Mg

Question Number : 35 Question Id : 8643513725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11 :

a)
b)

o)

(
(
(
(d)

List - 1
Haematite
Bauxite
Magnetite
Malachite

()

(if)
(i)
(iv)

List - 11
Al,O4:2xH,O
F9203
CuCO4-Cu(OH),

F93D4

Choose the correct answer from the Dpticrns given below :

Options :

86435111177.

86435111178.

86435111179.

86435111180.

(@)-(1), (b)-(iii), (c)-(i), (d)-(iv)

(@)-(i), (b)-(1), (c)-(iv), (d)-(iii)

(@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(a)-(ii), (b)-(ii1), (c)-(1), (d)-(iv)

Question Number : 35 Question Id : 8643513725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
alglds - I, aldld: - 11 enUO® caldjo aldl Calddaeld..

(a)
(b)
(c)
(d)

alglds - 1

Yelilolalay
GENLI0OEdHO)
DOUNOORH

MOLI6)6)HE) 5:;“

()

(i1)
(i)
(iv)

algldés - 11
Al,0;-xH,O
Fe,O,

CuCO,-Cu(OH),

F93D4

moey mmildenmauala olim rdoow oamee @06 EmMmS 1@ jd:.

40/94



3/18/2021
Options :

86435111177, @F(D), (b)-(iii), (c)-(ii), (d)-(iv)
86435111178. (@k(i), (b)-(i), (c)-(iv), (d)-(iii)
86435111179, @F(1), (b)-(1), (c)-(ii), (d)-(iii)

26435111180, @) (1), (b)-(iii), (¢)-(1), (d)-(iv)

Question Number : 36 Question Id : 8643513726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :

Options :
SO,H and — NH,
86435111181, 8
8643511118y, VH, and —COOH
NH, and —SO;H
86435111183. )
26435111184, OCOsH and —COOH

Question Number : 36 Question Id : 8643513726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HOQEROM ag)dmicalem aomieoMmio, @DMEWIEND agf)dmic.aleal eomila@wio

@REWOEND - HOHDIF NIEIUATIM HOVEMDOW aNEBaUEMED (o fidh@® @LOd(@HTO :

Options :
s6435111181, O3t~ NH; agamilal
86435111182, ~ NHa —COOH agamial

NH,, —SO,H agomilal
86435111183.
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sea3511118a  OOaH — COOH agavial

Question Number : 37 Question Id : 8643513727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of I‘*-II—I3 from Solvay process is :
Options :

NH,C1
86435111185,

Ca(OH),
86435111186. 2

CaCl,
86435111187. =

NaHCO
86435111188, & -3

Question Number : 37 Question Id : 8643513727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ematben al@loeildd alom NH, @lldle.o)s)eaemiotd 9emsieinm &0} §alo@alrmmosns:

Options :

NH,Cl1
86435111185. 4

Ca(OH),
86435111186. 2

86435111187, =3k

NaHCO,
86435111188, :

Question Number : 38 Question Id : 8643513728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The set that represents the pair of neutral oxides of nitrogen is :

Options :

NO and N,O
86435111189. i
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86435111190, 20O and NO,

NO and NO,
86435111191. i

N,O and N,O,
86435111192. = =

Question Number : 38 Question Id : 8643513728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®oeY mmildlanimm wmemengla (ampiaaglad) aomszan msmd addaamalem
@l uledlanim ezos] apm ?

Options :

86435111189, NO, N0 agrilal

N.,O, NO il
86435111190. 2 2 °G)

NO, NO aaplleY
86435111191, 294)

N,O, N,O oy
86435111192, 2 ' 2 3 °6)

Question Number : 39 Question Id : 8643513729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The common positive oxidation states for an element with atomic number 24, are :
Options :

86435111193, T11to 16

86435111194, t2to +6

86435111195, 1 1and +3to +6

86435111196, T 1 and +3

Question Number : 39 Question Id : 8643513729 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@reRodlanmmud 24 88 6] MlelBOTTION MowWanem Galdomilglal eodmildnemonlmund’d

a7
Options :
F1 @@ +6 cuen

86435111193.
86435111104, 12 2O@ +6 QIO
86435111195, T 1 +3 2i@@ +6 O
86435111196, T 1 T3 egmial

Question Number : 40 Question Id : 8643513730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHi)gl [Cr(CN)g (i  Linkage isomerism
(b) [Co(NH;); (NO,),] (i) Solvate isomerism
(c) [Cr(H5O):]Cly (iii) Co-ordination isomerism
(d) c:'s-[CrCIz{ox]?_P (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :

86435111197, @)1, (b)-(ii), (c)-(iii), (d)-(iv)
26435111198, @)-(11), (b)=(1), (c)-(iii), (d)-(iv)
86435111199, (@), (b)-(i), (c)-(ii), (d)-(iv)
86435111200, @ @V) (B}-(1D), (c)-(Eid). (d)-(1)

Question Number : 40 Question Id : 8643513730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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alglds - I, algld - 11 DIO® Caldjo alsl Ealddas .

alSldb - 1 algld - 11
(a) [Co(NHj)] [Cr(CN),] (i) eleme sagemoendimo
(b) [Co(NH,); (NO,),] (i) em@denq eagEmMIeRcimo
() [Cr(H,0)4]Cl, (i) eHoUlemaHdd eagemoemclioe
(d) cis-[CrClLy(ox),]? (iv) ealglendd eagemoaadiome

moey marildenimauala dlom rdoow ommoe @ OEETMS @6 .
Options :

86435111197, @)1, (b)-(ii), (c)-(iii), (d)-(iv)
sea3s11110g. @G, (0)-(D), (O)-(i), (d)-(iv)
86435111199. (a)-(iii), (b)-(1), (c)-(i1), (d)-(iv)

86435111200, @ @V), (B-(1D), (c)}-(1id), (d)-(1)

Question Number : 41 Question Id : 8643513731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :
Options :
86435111201, (4) only
86435111202, (B) and (D) only
(C) only

86435111203.

86435111204, (D) only

45/94



3/18/2021

Question Number : 41 Question Id : 8643513731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@06 6dhosiEiidlen M, @ieSoadlednanm) HIDEMBMOCLIT HWMROW [ laPIQUM)/

B apa ?

(A) moMUSETRROS ERAMOOW HaltIo.

(B) alinfedieains @dlmmi® SalE@owo.

(O) =ennweasglod MmyUANMBERINS MOME® &SI,

(D) meldwnwsandloa (MdemsaBgloa) caldaemeHiO0lHonemo, MIEBRIOS
uab.o] ®SWenISE.

®o6¥ ebosjomidlenmMmacaailonm agpalle o pEmoe GlEEETIMS 6 .

Options :

86435111201, (&) @20@o

86435111202, O (D) agmilal oo

(C) mo®o
86435111203.

(D) moi@mo
86435111204,

Question Number : 42 Question Id : 8643513732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nitrogen can be estimated by Kjeldahl’s method for which of the following compound ?
Options :

86435111205. Ll

86435111206. CHy —NK,
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86435111207. N

+
86435111208, ~ N=NC

Question Number : 42 Question Id : 8643513732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®oeY @MIdleaniMm af® Moismarmiad ailomoem em@eo@ (Kjeldahl's) dlallalees

eeamSRM agiiecand 601Qomonid ?

Options :
86435111205. B
86435111206. CHy —NK;

fj

e
86435111207. N

— + - —

86435111208, ~ N=NC

Question Number : 43 Question Id : 8643513733 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435111209, (A) only

86435111210, (B) only

86435111211, (A) and (C) only

86435111212, (B) and (C) only

Question Number : 43 Question Id : 8643513733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
epmileabad myidlcwoneanslon dlwom 620s]/ew af® ?
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435111209, AY) @@

86435111210, \B) @O(®o

sea3siiz1, B © agilcu mo@o

86435111212, (B (© agMilcu @oi@o

Question Number : 44 Question Id : 8643513734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement I :  2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il :  n-alkanes can be easily oxidised to corresponding alcohols with KMnO,.
Choose the correct option :

Options :
86435111213. Both statement 1 and statement Il are correct

86435111214, Both statement 1 and statement 1l are incorrect
86435111215, Statement 1 is correct but statement 11 is incorrect

36435111216. Statement 1 is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643513734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ladqpocum 1 :  2-dleend enlyes@anm KMnO, Halewouil ol 8o milda.msmo msomileond

2-dleelnad enlyesm-2-60@ eiElan)m).
ladapocum II : KMnO, ®alewiwilal emodadd @apa@desnaimisans @oailmmimmnow

@DWHOE0080H6] ag)Bla|@fldd eosmileneme MSOEDOCLM@mOET).
WA 0alnH0d @6 ETINS )86 ).
Options :
86435111213, [@1POQUM 1, (alapocuim II Hau @énzjo vodl@osn.

86435111214, o (RROCUM L (o (RO 11 sncu menzjo 6)MAOEI.

86435111215, W™ I (i@, ag)mMmom (alqgoaum Il 6®RIME.

86435111216, CWOUM T 0®GI0, agimIdd falqpoalm 11 cedl@moem.

Question Number : 45 Question Id : 8643513735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the correct statement regarding the formation of carbocations A and B given.

+
»> CH3 = CHZ = CH2 = CHZ + Br—
L A.l'r

CHS— CHZ —CH = CHE + HBr

+
» CH; —CH,—CH-CH;+Br™
i 'E3 L
Options :

86435111217, Carbocation A is more stable and formed relatively at slow rate

86435111218, Carbocation B is more stable and formed relatively at slow rate

86435111219 Carbocation A is more stable and formed relatively at faster rate

86435111220. Carbocation B is more stable and formed relativel}-' al faster rate

Question Number : 45 Question Id : 8643513735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

+
> CH:} = CH2 T CH2 e CHE +Br—
e A’f

CH3—CH, —CH = CH, + HBr

+
> CH;— CHy— CH—CH3 + Br~
.I'JBI".I'

A, B ag)oil &00@6NI0H0QE@oMiehalns dlafleremeam mosmiaul o)igs wElwow

PO @] 06) TIMS J6) )cb.

Options :
86435111217.
A ag)m HODEENIIHIQEOED dhlSimEd mudlo®m@iea®mio @D Eald:H e mo ]

@0 as mlodesiemosm 9o m@.

86435111218.
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B ag)im &H0DEENUIMHIQEoMD &h)Sim@d mudlommigamio @Y Ealddl ol

UMOEOW IS Mloasamoem 9enzonmMa.
86435111219.

A ag)m dh0MDEENIIEHIREIETTD dlS)®mEd MudlomBRM o @G ldHle00w)] CLMNMEs
mrilassilejmosm esnzoM@.
86435111220.

B ag)om &0 @enI0dh0Qe@oend ¢ Simm cudle®misamio @Rcalsdldanonl cainmes

mrlagsile jmosm een=oMN@.

Question Number : 46 Question Id : 8643513736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Enzyme A . L
Cy15H»0q7 +H,O —E = 5 CoH50¢ +CeHy506
Sucrose Glucose Fructose
s Enzyme B s -
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435111221. IIIVEI'T.EI.SE El.ﬂ.d Z}rmﬂﬁe

86435111222, Zymase and Invertase

86435111223, Invertase and Amylase

26435111204, Amylase and Invertase

Question Number : 46 Question Id : 8643513736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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X af)MeOervo A .
(_.121_122011 +H2D > LEleoﬁ +C_..._:IH12D&

(TOE|dhamy IEHNOMT  (ADHESITY

o B
CgH1,0¢ X200 5 5, H:OH+2CO,

(RICEHNIMY

D)6l HHOSJOm [alud@mmemsldd agadaamo A, af)deeuo B ag)imial @Lodddo

Options :

enmecudesmy, aemeam
86435111221,

eeMEmMI, enmdenudesmy
86435111222.

86435111223 enadecudesmy, @odleaimy

26435111024, @PdlEEITY; eDdOAUIBESTY

Question Number : 47 Question Id : 8643513737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,
(A)
In the above reaction, the structural formula of (A), “X" and “Y" respectively are :

Options :
N3 OCH,

1 'H -+ HC

86435111225. Cl
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" OCHj,

N
?
»  CHa—C—H, H,0
]

86435111226.
N5 Cl-
Ii :H
OCH,
86435111227. :
N, Cl-
9
+  CH3-C-H ,6 HCd
H
86435111228. OCH;

Question Number : 47 Question Id : 8643513737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH,

C,H,N,0Cl + C,H:-OH —» + No+"X" +"Y"
(A)

M@ OIS (e lUdEBNEWIE (A), “X”, “Y” ag)MHloi®es IS0 LOD|EMo:

Options :
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5 OCH,

H H
* H D ‘H -+ HC

86435111225,
N, OCH,
't
+ CH3—C—-H , H)0
86435111226.
N5 Cl—-
Ii :}1
OCHj,
86435111227. :
il iy
D
+  CHy—-C-H , HC
YCH
86435111228. OCH;

Question Number : 48 Question Id : 8643513738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435111229, Chloroform and KOH

26435111230 Benzene sulphonic acid

54/94



3/18/2021
6435111231, Par a-Toluene sulphonyl chloride

86435111232, Acetyl amide

Question Number : 48 Question Id : 8643513738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e6lalad], amuea@d, esdayd] @edmmes coudeldlenymaln eoueng] palewoudlenima:
Options :

86435111229, CE0E00Ean00, KOH ag)vilau.

eeruadmilad aqucdeansemilas mpmiloul.
86435111230.

alond — esoglalld mudeancenilad egoaan 0.
86435111231.

mmagm‘b @GBS
86435111232.

Question Number : 49 Question Id : 8643513739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - IL

List - 1 List - 11

Chemical Compound Used as

(a) Sucralose i)  Synthetic detergent

(b) Glyceryl ester of stearic acid ii)  Artificial sweetener

(c) Sodium benzoate

(d) Bithionol

iii) Antiseptic
iv) Food preservative

Choose the correct match :
Options :
86435111233. (@)-(i), (b)-(i1), (c)-(iv), (d)-(iit)
86435111234. (@)-(ii), (b)-(1), (c)-(iv), (d)-(iii)

86435111235, @)(1v), (b)-(itd), (c)-(i1), (d)-(i)
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86435111236, (@-(1i), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643513739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algldh - I aldld - 11 0o Galdlo alSl @.aldd)id.

alglds - 1 algl - 11
O VTV O WS 0 Halewio
(a) (oyBHoeRIDMmY i) olomgls allgdead

(b) @ddles eamicullean
loveaodd agad (i) yla milgmd
(c) emol@o aemeMIcE (i) @ED@OVAIGld
(d) eniieleoemoud (iv) anjl (@lovdecugiol

@B E IO EOETINS B .
Options :
86435111233. (@y(i), (b)-(it), (c)-(iv), (d)-(iii)

86435111234 (@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

86435111235, (@)(1v), (b)-(iii), (c)-(ii), (d)-(1)

86435111236, @)-(i1), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643513740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :
Options :
86435111237, ‘ildohexose

86435111238, etohexose

86435111239, L yranose
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86435111240, [1eptose

Question Number : 50 Question Id : 8643513740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(aDHESOM af)MIENE OEaOmEMMOeN !

Options :
86435111237. Epdians exemanuon

&HIER0 HaDEHEILOMY
86435111238. 8
86435111239, O-IO0EMAT

eanalegomy
86435111240.

Chemistry Section B

Section Id : 864351250
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351250
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gas at STP is _ 1021, (Round off

to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 8643513741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STP -@fl@d 20 mL eghodld cuomdaoniengs e@ocli apaamaIes ag)emo 10%!
@ ldlanio. (HMOFSIOM alldENmUos) @D db.)

[ STP -wflad egodlad eagoul@Ed CUOmEBHMONEMNT @RMIBINIIHE idb.

R=0.083 L bar mol~! K~1, N, =6.023 x 10>

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 5 mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K:39.1u, Br: 799 u
N, =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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10~ ° emotd cal¥ouaf SrBr, KBr -@d eawoal e.aigymmy 1 g KBr (@lmigellad pensonm
HOQEWOETld CUOMHMMISHIONS ag)§mo 10t

(6®O3SIO® aljdEnMVosy) EDHE)H.)
[@reqodiles momy : K :39.1u, Br:79.9 u

N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%x10~ 1 BM. (Round off to the Nearest Integer).

[Given: 3 =1.73, V2 = 1.41]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643513743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe(Z=26) -@ies ((6ne miegalad (@movmm godzzaileiwia) qmjld-asndel moomds o @omf
x10~! BM @nadles jo.

(0@ o jBEMAVOEY) BRSO )d.)

[Given: 3 =1.73, 2 = 141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 54 Question Id : 8643513744 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 1 molal K Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.
The molar mass of A is u. (Round off to the Nearest Integer).

[Density of water = 1.0 g cm ™ ?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513744 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 em0g0ad K Fe(CN), aowmloes allull etad allemomilewaud (aflcaiglenimaiiond
@raal) 0.4. @pem. anailon wlaciel, A agmm &w) emoend—gnelsesoelgls: ellmmrmiaa
(@re@oemle:adleacmm elmaslon) 18.1 &y cal¥md oaa elowmlayens alanilaiies

@Jelmoem. A-ins ¢mogod momy u @en.
(O®OZSO™ aljBEMaVo6)) BRH)d.)
[eiomilond mome = 1.0 g cm 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513745 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider the reaction N 204(g) === 2NOs(g). The temperature at which K(_.=2ﬂ.4 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K ' mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513745 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
N>Oy(g) === 2NO5(g) )M lalud@mmo al@lwemlenid. K-=20.4 o Kp=600.190

@YUM ®oalmrilel K @oen.
(O@ISSIO® al}DEMMTVOEL) EDHE ).

[ ag)gjo uomdEemEglo engulledd clomdasmEaam’ @mimoaienis. R=0.0831 L bar K1

mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513746 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A KClI solution of conductivity 0.14 S m ~ ! shows a resistance of 4.19 €} in a conductivity cell.
If the same cell is filled with an HCl solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is %x1072S m~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643513746 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80} Henesslalgl amgfldd, 0.14 Sm ! simssioldoes KC eoswcdlwes pialeniwo

(@omflmigadmy) 4.19 ) ag)n} Ho6emMleaimmy. @ee®m emglla HC eowil oloisejemiod

ld@lemowe 1.03 O @pael ®ovym). HCl eoodlees &»Hensdassiallgl
x10~2 S m~1 @gem.

(®OZSIED aBENIVOEY) BDHO ).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B, — 2AB is an elementary reaction.
For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor

of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2A+B, — 2AB ag)M (aloud@mmo, 80} agaliea@dl ludammadem. (en) mingallad
MSHIM [l UDODHMEOET.) @RElHODHETEWD B0} [ IeM)d: @Ralldd ag)sio, icudammo
MSEMIM  ald@Ewlen) opai®o alloalnmow]  &)0W @ &woe 6m sl

oM lcud@mmElen oo mssts cudallesio.

(@SSO alBEPMVOE) ERHOID).
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643513748 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513748 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH -0 zell® enodlalad FeCl; -@jo aodhmoels @pmiluinowiss alld@emnow

(alcud@mMETen ateimoe] A ag)m &@alMo ©6MBIIM]. A af) &@almEwilad Fe

e

-@Os OMEHMT coealndmd] @6

{mmage&m Mé@h%moﬁ}{ﬁ fﬁ@‘ﬁ-@&-ﬁa]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643513749 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H,,0) is . (Round off
to the Nearest Integer).

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513749 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

pamilonnmd aomesmulelgs C-C milvin emioens»8l0s ag)emo @
(O®OZSIOD l}DENIVOE) ERDHEdb).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513750 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

O
| 0
S i
0140 g 0388 g 0210 g
Consider the above reaction. The percentage yield of amide product is _ . (Round

off to the Nearest Integer).
(Given : Atomic mass : C :120u, H: 1.0y, N: 140 u, O: 16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513750 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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[ p— |

0
(I
+ C¢HsNHCHs —» CgHs—C—N—(CgHs),
0.140 g 0.388 g 0210g

DiBEl OHISIm AN (alUdEmMo aldlemlenid. O®alMMmo® @raedmale

Gal tﬁmmr@a" Wil T @men.

(O@OZSIOM o BEMAVOEL) BRDHE).

( mmﬁﬂtﬂ& momy: C :120u, H:1.0u, N :14.0u, O :16.0 u, Cl: 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351251
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351251
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643513751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A . i 1 i
The number of solutions of the equation sin 1[12 I E] I cos 1[1‘2

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is:

Options :
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86435111251, Y

86435111252, 2

e

86435111253.

86435111254, Infinite

Question Number : 61 Question Id : 8643513751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 1 s 2 ;
xe[~1, 1] @ sin 1[1-2 | ;} b cos 1[3{_2 ;} = 2% ag)im MVAIOEYEB M MOWMOID

al@lanonsBRIOS ag)sMo [x] af)@, x -EMSNIWD HJOMTMEDO ®IL)CD0 @D® HWBM
al)em ruosyy@oen) :
Options :

86435111251, U

86435111252, 2

e

86435111253.

@EDEMdho
86435111254.

Question Number : 62 Question Id : 8643513752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (paq)®(peq) is a tautology, then ® and = are respectively given by :

Options :

86435111255, " ¥

86435111256. 7

86435111257. '
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86435111258, "

Question Number : 62 Question Id : 8643513752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(pArq)@(peq) agym muglem ddio B80) 6S0e308Z @M af)®ldd @ , @ agomial

@LOD(EMO
Options :

86435111255,
86435111256

86435111257.

86435111258. °

Question Number : 63 Question Id : 8643513753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— et Fa% s — M A A
Let O be the origin. Let OP =xi + yj kand OQ =—-1 + 2j + 3xk,x,yeR x>0, be

—_— ; —_— . —} . —} Fay FaY M
PQ| = +20 and the vector OP is perpendicular to OQ. If OR =3i + zj - 7k,

such that

= =
z € R, is coplanar with OP and OQ, then the value of x +y? 4 22 is equal to :

Options :

86435111259.

2

86435111260.

=]

86435111261.

86435111262, ¢

Question Number : 63 Question Id : 8643513753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

O agMm@ @wooefiazjoioem. OP =xi + yj — k, OQ=—i + 2j + 3xk,x,yeR, x>0

1= : -
ag) (M@l @ P(_‘;r‘=ﬁ ®p OP agm® 00 ald elomialjo @DIM).

OR =3i + zj — 7k, z € R, agym@ OP , OQ ag)milaicwos G&o-gJomd @eemes:ld

2+ 17+ 22 agmna
Options :

86435111259, 1

86435111260, 2

=]

86435111261.

86435111262, ¢

Question Number : 64 Question Id : 8643513754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 42

X
of the matrix |4 5.2 y is zero, then the value of kZis :
5 k z
Options :
86435111263, ©
86435111264, 12
86435111265, 20

86435111266, 2

Question Number : 64 Question Id : 8643513754 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Oal®m@OoMo d @D® (x # 3d) MAXMEEUyETIRleel alreBalem x, ¥, z agilal.

[3 42 «
4 5J2 y| egmm endaminn algadimag almimoeemeslad, k? agmmaien mjelo :
b k =z

Options :

86435111263, ©
86435111264

86435111265.

=]
I

86435111266.

Question Number : 65 Question Id : 8643513755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(m co 52l]‘_|

The value of the limit lim is equal to :
8—0 sin (2 sin™0)
Options :
1
86435111267. 4
1
86435111268, 2
1
86435111269. 4
0
86435111270.

Question Number : 65 Question Id : 8643513755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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v
; tan({w cos™0)
lim

: .
6—0 sin (27 sin“0)

agm eldiglea ajelo :

Options :

1
86435111267. 4

1
86435111268, 2
1
86435111269, 4
0
86435111270.

Question Number : 66 Question Id : 8643513756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=2

10(5in 2 x|

G dx =ae 1 Be 2 + v, where «, [3, v are integers and [x] denotes
0 e

If the it‘ltegral

the greatest integer less than or equal to x, then the value of a+ § + v is equal to :

Options :

86435111271, Y

86435111272, 10
86435111273, 20
86435111274, 22

Question Number : 66 Question Id : 8643513756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1

10(_: =
J [sin 2mx] dx =cae 1+ Be 2 +v, agm@ e} el meymow] wmdldlenyom).
(

y X~ Hl
@oAl@d o, B, v DA aljdem Mosdbalo [x] agma) x -8moS mjelemo ERMIE &0mmEmo
@O H@IM aljdEPMon)Wio @ROEMEIM, a+ B+ afmnm :

Options :

=

86435111271.

=

86435111272, 10

86435111273, 20

86435111274.

Question Number : 67 Question Id : 8643513757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

2(x? 4 x%}dy y(x 4 I}'g}dl'= 2074 dy, x > 0 which passes through the point

4
(L 1 3 1089_2] , then the value of y(16) is equal to :

Options :

4(% % log, ﬂ
86435111275. 4

(2203

3 3 i

86435111276.

(% t — loge. ﬂ
86435111277. g

86435111278.
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Question Number : 67 Question Id : 8643513757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2(x2 + x74) dy — y(x 4 x/4) dx = 2 dx, x > 0 ag)m AWlanoMayy@ qVECIOB) O 6 Y
_ p w

Al @la000@I® y=y(x) agm QUH® (Ll EIC’SHEJQQ}[‘I‘H enflmjalleles ssom)

GalodbjMiecusl@, y(16) -6m mielo agM@ :

Options :

86435111275.

(% % loge3 |
86435111276. i

86435111277.

86435111278.

Question Number : 68 Question Id : 8643513758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential equation

'Wis
3)

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x _%, ¥(0)=0. Then, y(%

equal to :
Options :
2log, {—E\ﬁ 8)
86435111279. g e
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[ F’W
EIngE[ >
86435111280. \ 4
| 2J3 +9)
EIogE{ - |
86435111281 i g
2 log, [zﬁl l 101
86435111282. 5 1)

Question Number : 68 Question Id : 8643513758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosx(3sinx + cosx +3) dy=(1+y sinx(3sinx + cosx+3))dx, 0 =x = %, ¥(0)=0 agom

UWlanOmaygy@ MBSO TOM alBlan0dmOeM y=y(x) afMMa. ag)ssldd, y(?] g :
S

\.

Options :
EIGBE {—R\ﬁ 81
86435111279. g == g
Elf}gﬁ [‘ﬁ l ’TW
86435111280. 2 )
| 2J3 +9)
21g,(2E22)
'\ ] J
86435111281.
2 log, [2»5111 10)
86435111282. g g

Question Number : 69 Question Id : 8643513759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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|| 2 — W l, x 0
Consider the function f: R — R defined by f(x) = J.'( qm'@]; . = # . Then fis:
| 0 , x=10

Options :

R64351112g3, Mmonotonic on (0, =) only

monotonic on (— =, () only
86435111284. 2

86435111285. monotonic on (— =, 0) W (0, =)

not monotonic on (— %, 0) and (0, =)
86435111286.

Question Number : 69 Question Id : 8643513759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ qm(ﬂ] G D. ag)Mm anerRaHad

L i)

f:R = R -@d addldcuallafldleaimm f(x

—

al@wemlan)d. ag@sl@d fagmmae :

Options :

86435111283, (0, =) -@ @O@o cmOEEMIEZ06NSH: @RET
26435111284, (— =, 0) ~@ @O®o emOBEMOE5I6NTld: @REM

86435111285, (— %, 0) U (0, =) -@ emoeemoegoele: @oen

86435111286, (— =, 0), (0, =) spcui@d emocemocgoenild: @og)

Question Number : 70 Question Id : 8643513760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of

lim [r] + [2r] Iz___ | [1‘11‘]r
N —ox n

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :
Options :

86435111287, ©

r

86435111288, 2

86435111289, 2T

86435111290, U

Question Number : 70 Question Id : 8643513760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o M+ pPaE.. .+ [
. 3 agmM@oR melo,

T —a 1

(r e @ aljgapioom coafl moslj@io [r] agime r GMosS MIRNEMO @OMIE dhiOEMMEMmO
@R WD al)deMruosli@io @DEN :
Options :

86435111287, "

I

86435111288, 2

86435111289, 2T

86435111290. 0

Question Number : 71 Question Id : 8643513761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Leta computer program generate Dnl}-' the digits Dand 1 to form a string of hi_nar}f numbers

1
with probability of occurrence of 0 at even places be 5 and probability of occurrence of 0 at

1
the odd place be 3 Then the probability that 10" is followed by 01" is equal to :

Options :
1
86435111291.

o=

86435111292.

0 | =

86435111293.

86435111294, 18

Question Number : 71 Question Id : 8643513761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eeemdl Mosldhaod 0, 1 ag)mil @oH606mE0d Haleworilales 8o} doalisd elalolwoadlad,

0 oM@ 0T EPSOHMOIMNOMIUOIMIS]  TVOUYD % oo 0 agme eq

@O HEMUOIMNAEMIOUBOMIER TVOUN® %mr@&g,nﬂg. agssl@d, ‘01 agomn@lo misd ojwoni ‘107

(UMOIMIBR TLOW® af)Mn@ :
Options :

1
86435111291.

Iy

86435111292.
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1
86435111293,
e ]
86435111294, 18

Question Number : 72 Question Id : 8643513762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

r_-qual to :
Options :
86435111295, 260

86435111296. 364

86435111297. 333

86435111298. =

Question Number : 72 Question Id : 8643513762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ABC agym (@flesoemadilend ciwemao@ AB, BC, CA agmilauaiad @wodhae 3, 5, 6
enllosjeandd cudiafle aigymmy. 800 enflmeadd wWidaudmemaoe] ofldanlkenoaiom mowmow
(@ledmOeMETRRINS @6 ag)slo ag)mMm@ :

Options :

86435111295, 360

86435111296. J64

86435111297. 333

86435111298. 22y
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Question Number : 73 Question Id : 8643513763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x2+ y>=25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then rZ is equal to :

Options :
125
86435111299, /2

&5

£

86435111300.

529

86435111301. ke

'585
86435111302, ©°

Question Number : 73 Question Id : 8643513763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R(3,4) agm snflozafldd % + 1> =25 ag)om ouj@mo el as amoSiUm 1-ERdHODNW]o

y-@Enddeomm@io P, Q agm] enfla3)endlmd @nodhmo &Henejmigiim). @pwonmilias)
O-0flejes &HSmMGalddh:iMm r @RABIEE QIEMEHIONM edhiBo OPQ ag)mm (@lesiema o

DUNEHBDOET. af)@lad 12 ag)oma :

Options :
125
86435111299, /2
625

86435111300.
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529

86435111301. ke

585

86435111302, ©©

Question Number : 74 Question Id : 8643513764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let 54, S, and S; be three sets defined as

S, = {zeC:[z—1| =42}

o
wd
I

{ze C:Re((1-i)z)=1}
Sy ={ze C:Im(z) = 1}
Then the set 5, M 5, M 554

Options :

has exactly two elements
86435111303. -

36435111304, has exactly three elements

86435111305, 1S a singleton

86435111306, Das infinitely many elements

Question Number : 74 Question Id : 8643513764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sy- Sy, Sy ag)omil @I NEMETBWD M6 BT dlenM®jeatoeel aldalallafldeaiom;.

S, = {zeC: |z-1| =2}

L
ol
I

{z € C:Re((1-i)z)=1)

S; = {zeC:Im(z) < 1}

ag)®Imd, S; M S, M Sy af)Mm LIEMEIE,
Options :
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86435111303, 2P0 Q6TE @RODETBR Pere

86435111304, @e DM @OOWETRUID D6nE

86435111305, S0 @O0 BI®O

26435111306, @RCITI®ETRRID @REMdE:o @ROMETRUD

Question Number : 75 Question Id : 8643513765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e ™ *sinx. If F: [0, 1] — R is a differentiable function such

. 5 * 1 .
that F(x) = j f(t) dt, then the value of jﬂ(F'{x] [ f(x}]eldx lies in the interval
0

Options :

e
360" 360

'[32? g;g}
360" 360

B
360 " 360

86435111307.

86435111308.

86435111309.
'[335 335}

86435111310, =500 360

Question Number : 75 Question Id : 8643513765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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f: R = R agma f(x)=e *sinx ag)om adldclall afldlesim) F(x) = -If(t] dt @@y
<0

8e) Wlanomayymilad ancesaumoem F : [0, 1] — R agma’ agsxlad, ! (F'(x)+ f(x))e" dx

agmalend mjelio cudlaliaolgmm seals agmna
Options :

el
360" 360

'[32? 3297
360" 360 |

86435111307.

86435111308.

[, =
360" 360

86435111309.

[335 ’Hﬁ}

86435111310. 360 360

Question Number : 76 Question Id : 8643513766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6
The value of {EC, . Ef_"ﬁ ,_] is equal to :
r= 0

Options :
86435111311, 224
86435111312, 1024

86435111313. s

86435111314, 1324

Question Number : 76 Question Id : 8643513766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

ﬁ i
¥ {E’CT o r}l agyMaiien mjelo :
r=0

Options :
86435111311, 924

86435111312, 1024

",
86435111313. 1124

86435111314, 1324

Question Number : 77 Question Id : 8643513767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

o SRR . o ) x—2 )
B T ] and containing the line = = is

d
(==
=
|
1
il

line

ax +py +yz=24, then a + + v is equal to :

Options :

86435111315. =

86435111316, 20

86435111317, 17

86435111318. g

Question Number : 77 Question Id : 8643513767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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.xtlzy:i z+2

- T T °9M Goaew @oslounomaddsl (2, 3, 1) agmm enllm3alledd

x—2 ¥—g ¥l
adqlem enfloni@dilaes &S] GalddhiMmio 3 T 3~ 1 ) coa

W OENIBRM®IMOW DEIGTIOM TVACUOSBIMIEM  ax+ By +vz =24, oM. af)s@l@d,

a+p+y agmae :
Options :

86435111315, 21

86435111316, 20

86435111317, 17

86435111318. 18

Question Number : 78 Question Id : 8643513768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle x*+ 1y~ 2x — 4y +4=0, such that the

T o U
angle between these tangents is tan , —W , where tan™ EW € (0, 7). If the centre of the
5) 5/

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of AFPAB and ACAB is :
Options :

86435111319, 7 :4

86435111320.

86435111321, 2° 1

86435111322, 114
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Question Number : 78 Question Id : 8643513768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
P agom enflozyafl@d oflom 22+ y2 — 2x — 4y +4 =0 o) QUYODETICLISS 0T E 1M

OmOS)UnBdHslsellelgs esmoemosm tan_l(IS—ﬂ ag)n@i. @eilad, tan‘l(lfw e (0, m)
4 3 A

DL}, AUSOMEHBOHOD C ag)My COEUOSITMIB® 0, HMOSIAU0®ED Aleme®m A, B

gl enllosjeeelad mialduiles)swio 6.210i®owd, APAB, ACAB SOIWIOS alda|B0isHales

@ROURENIMLC ag)MnNE :
Options :

86435111319, 7 :4

86435111320.

86435111321, 2° 1

86435111322, 1174

Question Number : 79 Question Id : 8643513769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = % in the interval [0, 27] is :

Options :

86435111323. 2

86435111324,

86435111325, 4

86435111326. 3

Question Number : 79 Question Id : 8643513769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
[0, 27] egn spseuawimd, x + 2 tanx

al@la0oMETBRIOS ag)sho agM@

Options :

86435111323.

86435111324.

86435111325.

86435111326.

2

.

K|

ag)m AU EmIM MW mow

Question Number : 80 Question Id : 8643513770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?=4x — 20 at (6, 2). If L is also a tangent to the ellipse

e
I\J| 9

2
g ¥
)

Options :

86435111327.
86435111328.
86435111329.

86435111330.

=1, then the value of b is equal to :

11

14

16

Question Number : 80 Question Id : 8643513770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(6, 2) agm enflo3)fldd > =4x— 20 ) alEICEUISH® MinldUBlaniM OMmISICUO@OET)

2 yz

L . #jsoom ddasioljemo 17 F=— =1 agmaimio L e@osjnio@oen ag)@lmd, b @es

2 b
@jeljo ag)m® :
Options :
86435111327, 11

86435111328, 1%
86435111329. e

20
86435111330.

Mathematics Section B

Section Id : 864351252
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351252
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513771 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

Let I, = j 3 (log/x)" dx, where n e N. If (20)I,,= alg + plg, for natural numbers « and §3,

1

then «— 5 equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 81 Question Id : 8643513771 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n ¢ N agmailad, 1, = rx” (loglx))" dx @M. o, B o agemad Vo (Bas
1

(20);p=aly + PIg @RO@OM, a— B agm@ @6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513772 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2n

Let tana, tanP and tanvy ; o, 5, v # —I}_'F ,n e N be the slopes of three line segments OA,

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

. B
" . ; 3 e
and its orthocentre lies on y-axis, then the value of [ cos3a + cos3p + cos3y 1 is equal to

s COs a cos [3 cos v )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513772 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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tana, tanp, tany (o, B, v # M n e N) il @wohao OA, OB, OC agyoil oy
2

GOEUIELEMLETRANS alBla] @D @oaila, O ag)mmn® @pworenllasjcuoem. AABC @ies

al@loE® eiBo @pWonsnllosinllo, sodeamoanmmd y-Eoaummelo @DeEME:IT,

’ 2

3 : - o an

cos 3a + cos 3B + cos 3‘#} AN @0dbim).
Cos o Cos B cos J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513773 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 1, log,,(4*—2) and Ingm(%lx I 15—81 are in arithmetic progression for a real number x, then
: J

2(:{ —w x-1 22

the value of the determinant is equal to :

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513773 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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x ag)m coafle quoaldsl, 1, log,,(4*—2), Ingm(4x | 1—: ENCL UMD G 6N @fl@d
4
2(: lw x—1 22
s e
@D 66N &3] @D, i o agymaflen allgddimad ajele @6
x 1 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513774 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513774 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

UMMM 4 @D® 3n MoAl®HAINS B0} 1Mo aldlteTiadis. &1 wemEmld @a) 2n
(MOEHRIONS (RAJRME 6 - Oo IS N MCANHRINS VEONEl 3 - Ho EVEYMY. EBE) 2n
Mool &l eocronTilemosio 1 dhigl@ie , oSl n Muosidhalad eoeramml@d mlmyo
1 dh)O2lio a@ll® 6@} emo eM=0enM). all@ie wemerilen ecudloadmik epeemassld,

9k g @DEN.

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643513775 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] — R be defined as f(x)=ax?+ bx +c for all x ¢[ -1, 1], where a, b, c € R such

1
that f(—1)=2, f(—1)=1 and for x € (— 1, 1) the maximum value of f"(x) is 5 If f(x) =«

x € [—1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513775 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

xe[-1, 1] @ f:[-1,1] = R agm anedauad f(x)=ax?+ bx + ¢ agom adldouodl afldlenimm).

a,bce Roo f(—1)=2,f(~1)=1 go @BIM}. f'(x) -60) p©BM melo % @)},

f(x) = a, x e [-1, 1] @O, a -WOS HOETW BIEljo ag)M@ @6,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643513776 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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n
Let the coefficients of third, fourth and fifth terms in the expansion of (1 I izw ,x70, be
x

in the ratio 12: 8 : 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513776 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
[1‘ | iﬂ , x 2 0 agonafle @ allaljelleoemodd, ajmMmoas@m®@io MILIAOEMW® jo
. x=J

@OERUOAO D@0 alBUBSINS (NJEEMOEMAEIEU 12 : 8 : 3 af)(M @OOUDETLIMLATII0E.

i

af) i@, 09 allajelsmemedied, x OBeesorm alBo ag)Mma @D6m.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513777 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

Irmin xlﬁ],xz, 3=x=<20
T o

imax {«;@,xz}, U=x=1.

If the area bounded by y=f(x) and x-axis is A, then the value of 6A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643513777 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:[-3,1] = R ag)im anesaud,

| min {[I I ﬁ_],xz], I=x=10

J(x) =+ s o @orildlesom
| max {u‘x,xz}, D=x=1. °4) 4ms.

y=f{x), x-@oato snal (ildem@lanim alvajgal A epesm@Eld, 6A agmma

i

[BIHE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513778 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrar}-' point having sum of the squares of the distances from the planes

x+ty+z=0,Ilx—nz=0 and x— 2y +z=0, equal to 9. If the locus of the point P is
x2 yz t z2=0, then the value of I —n is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513778 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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x+y+z=0,Ix—nz=0, x -2y +z=0 a0 mesmdd dmes cieomilemn audunasalns

®ids 9 EDHOMH Qllwandlad oas e} enilozjcucsem P. eov enflozjalle memidoalom

2+ y?+ 22=9 agmosemel@d, I - n ag)ma @Re.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643513779 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
— —F Fa Fat iy : — et A M
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j—k. If the

'y [ A A A

. . eamony gt M o4 S G
vector x is perpendicular to {3{+2j—k/ and its projectionon a is , then the value of
2
2
‘*‘ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513779 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A —¥

R ;|L b=;’|2'} kog}rm"l OUMSOHID DWWOHENIBRIMT MaIdweal me[RIn)

OAUBS00N x . HAUBSD x agINE {3?I 2] I?]ng}rmmﬂlm‘ Blosninjo @oaflend a oidd

- ;8
988 Hlalomdd hf 8o @DEEM B3, ‘;| ag)omim) @DEM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643513780 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| a | ' ] [0
Let A = [a ;] and B = [;] ,—L[[J such that AB=B and a + d= 2021, then the value of ad — bc
C C

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513780 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| a b] o 0
A= { Jr B = LJI-LJ ag) M@, AB=B @jo a+d=2021 o @peemslad, ad —bc
C C

WesS meo  @Dem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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